
Studio del transitorio - Sistema ad 1 gdl sotto-smorzato con forzante sinusoidale

x t( ) e
ξ- ω t

A cos ωs t( ) B sin ωs t( )+( ) X sin Ω t φ-( )+:=
ξ

x' t( )
t
x t( )

d

d
:= x

Given

x 0( ) x0=

x' 0( ) v0=

Find A B, ( )

x0 X sin φ( )+

v0 X Ω cos φ( )- ξ ω x0+ X ξ ω sin φ( )+

ωs















m 5:=

k 1200:=

c 5:=

F0 100:=

Ω 8:=



x0 0.3:=

v0 0:=

ω
k

m
15.492=:=

ξ
c

2 m ω
0.032=:= ξ 3.227 %=

ωs ω 1 ξ
2

- 15.484=:=

X
F0

k m Ω
2

-( )2

c Ω( )
2

+

0.114=:=

φ atan2 k m Ω
2

-( ) c Ω( ),   0.045 rad=:=

φ 2.603 deg=

A

B









x0 X sin φ( )+

v0 X Ω cos φ( )- ξ ω x0+ X ξ ω sin φ( )+

ωs













0.305

0.049-









=:=

x t( ) e
ξ- ω t

A cos ωs t( ) B sin ωs t( )+( ) X sin Ω t φ-( )+:=

t 0 0.001, 15..:=



0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

400-

200-

200

400

tempo [s]

sp
o
st

am
en

to
 [

m
m

]

X- 1000

X 1000

x t( ) 1000

t


